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	Probing Questions

This resource is a spreadsheet where you can set up a linear expression and the software displays the sequence it generates.  The expression, the sequence or the position numbers can be displayed or hidden allowing you to ask the group a variety of probing questions.

The spreadsheet is flexible in the way it can be used but here are some suggestions about how it might be used in a lesson

Show a simple sequence such as 2n + 1 along with the first five terms.  Use the slider along the top of the screen to reveal the answers.

Questions to ask

· Here is the sequence for the first 5 terms.  
· What would the sixth term be?  
· What about the 10th?   
· The 100th? 
· How did you work that out?”

Show the sequence 2n + 1 along with the first five terms.  Change the sequence to 2n + 5, 2n + 7, 2n + 27, 2n – 6

Questions to ask

· Here are the first five terms for 2n + 1.
· Now let’s look at 2n + 5. 
· What is the same and what is different?
· What would you think  2n + 7 might look like?

· What about 2n + 27?  ...and 2n – 6?

Show the sequence 2n + 1 and then 3n + 1, 4n + 1 

Questions to ask

· Here is 2n +1.  
· Now look at 3n + 1 
· What is the same and what is different? 
· What do you think 4n + 1 might look like?  
· And 5n + 1?....and n + 1?
Set up the sequence 2n – 4 and hide it.

Display a sequence of 5 terms but NOT the first 5 terms and hide the position numbers.

Questions to ask
· What is the expression for this sequence? 
· Are there any other expressions that could work? 
· What else would you need to know to be sure? 

· If the term-to-term rule for a sequence is +2. 
· What does that tell you about the position-to-term rule? 
· Do you have enough information to find the rule for the nth term? Why? 

Set up the sequence 3n + 4 and hide the expression.

Questions to ask

· What do you look for in a sequence to help you to find the position-to-term (nth term) rule? 

· How would you go about finding the position-to-term (nth term) rule 

Show the sequence 5n – 3 and display the 11th to 16th terms hiding the position numbers

Questions to ask

· Describe how you would go about finding the position numbers here?

· How would you check the results?

· Let’s look at 3n + 6 now.  Does that method work here as well? Show me.
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